AI=A"D-

GIGFISTD

& m X

Model Table |

Body Parts ‘ Engine Parts ‘

HEHES
831JLILIL]

re




BREROFIAFEICONT

5 3313
TOMBEEIAK, TV VOTEHTEREINRTOET,

HR
BRI, AR a & 2R L ThET,

R B
FRAEHMRICEEB I TV EFIE. J8O A BROHNBEERL TED £,
TZITREN- KBS WAL LTRNERICA-TEDETOT, BHUKBORKK
IZCZHEXTFTES5 &I BEOERLET,

BEETH
P TRICACE X N TV A HIE. S EIFOEHER & T () T4, @il
mWimd L<IZlty F TOEETETY,

b R
KB THIZHENRTOWBEAE T vy 7Y -8R T, £/, [@4DOHMBBET
HHTREBELBEDOH XA TOHBIUIER D HIGATRET T,

HAFSEIRBOLYD, BETII DT, BRMEBRETHEBFESLEOLHRE
% ZHERERE T,
(f1)
Part No. List Price Description Dispo. Code
93440 130 Use94712 C

(ZDOBE3440D PR TS IFMTIIZEF S22 &R L E T, & LISMM0DIEEH
i, THEBELUCHEHL, AESLVIBAMUTI2EHHLET,)



PARTS LIST FOR THE YANASE SNOW-THROWER

TIPS FOR USING THIS PARTS LIST

1. STRUCTURE
This Parts List has two sections: Body Parts and Engine Parts.

2. NOTES
General standards, name, etc. are described in this column.

3. ORDER-UNIT
The number listed here indicates the number of individual parts prepackaged together.
Because of the prepackaging, parts must be ordered in multiples of this number. For
example, if the number indicatedis 5, but you want to order 7 units, then you are
requested to order 2 sets of 5 parts or 10 parts.

4. STANDARD PROCESSING TIME
This number indicates the amount of time required for parts to be replaced.

5. ENGINE
If the figure is surrounded by a frame, assembly is required. Only parts given an index
number can be individually ordered. Other parts may be ordered only as parts of sets
and kits. Therefore, parts marked with:

Notice: Parts numbers may be changed without notice. Please confirm all parts numbers
when placing orders. Some number changes will be indicated within the parts list as
follows:
Part No. List Price Description Dispo.Code
93440 130 Use 94712 C
Here, the part number has been changed from 93440 to 94712. Parts listed as 93440 will
be available as long as supplies last. Parts listed under 94712 will then be supplied.




914HSTD
1999

Parts List




X F
Body Parts

831LILIL]

Top
I???‘??I—Q% .................................... 2~5
Engine & Radiator
§b7b15§§§j§5 ...................................................... 6~9
Transmission
a I\D_)[,:&B ............................................. 10~15
Levers & Links
T:E??EIEB ......................................................... 16~1 7
Frame-driving
HIN— c BREI R D R e 18~21
Covers & Fuel Tank
/QEEB ......................................................... 22~25
Hydraulic System
7j-_jj‘ . j‘|:| '7%5 .......................................... 26~29
Auger & Blower
DJT_FEB ................................................... 30~31
Chute
EE‘%@%B ......................................................... 32~33
Electrical Equipment
=z 7—'_ wy jj ,r:lzlg ................................................... 34~35
Stickers
ggﬁiEEﬁiﬂl ......................................................... 36

Wiring Diagram

2000. 1



831

Y o »
\ /LT 777
~ \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

N
Wu&\\\\M\w\\\\\\\\\w\‘\\\\\\\\\\\\w

y /2 LT EEEE LT LTI T,

2000. 1

1,,.& 914HSTD



STUI—42% 831

T2
]

HiiNo.| & & & 5 OB & W L2 A% | RHh | EE T
1 | K083—1540 TV VEE 1
2 | K902—4053—B| /MESHARL L (SWH) M10X25 (7T) 6
3 | K902—4034—B| /MESHALRL L (SWH) M8X25 (7T) 19
4 | K836—0013 i A A 4
5 | K929—2205 SRS M8 3
6 | K083—1550 ryovah 1
7 | K083—1510 oy DM700D 1
8 | K083—7121 ~NJL A 1
9 | K01072—51030 | /MESAFRL L (MB) M10X30 3

10 | K926—1208 AR Y M10 3
11 | K083—7131 ~U ML 1
12 HAHr oy b(F S —2R b4 ) YU YEES 2
13 | K083—1570 Pexi® 1
14 NAT Y b M8 xTVY U s 6
15 | K926—1206 AP 3. M8 8
16 | K083—1581 v 757 Iy b 1
17 Ay, IVL—-RYHF—-T YU VERS 1
18 | K902—4035 INEISFIR L b M8X30 (7T) 4
19 | K902—2033—B| /MgAfEL b (SWH) M8 X 20 4
20 2737y TY VY VER 1
21 TaF oA, AL TT Y VERGR 1
22 TuFsa, 1FS-AMS4T70Y Nl | TV Y v ES 1
23 TuFs s, 2FT-A 4770 PNe2| TV YV ERG 1
24 | K083—1590 PESE 1
25 | K083—7100 VYUY A 1
26 | K083—7112 Iy rS—YB 1
27 | K902—4036—B| /MESNARIL + (SWIT) M8X35 (7T) 4
28 HGUY=FTokv Ty, T, U4 XLV AV M DV EG 1
29 FrgTHT Ty T, vr=4 - V-1 | TV VEN 1
30 INVE, Y —F YU VES 1
31 AR, LT —F VY VEER 1
32 2997 YD VES 2
33 | K083—1621 7 oY —FHHA 1
34 | K083—1630 I BN VAR ha=) 1
35 | K083—1851 BREV R — R (2 v —T 4 L A) $ 6X1200L 1
36 | K902—2032 INEFSAEAR L b M8X 16 2
37 | K838—2105 HSHEF o b M8 2
38 VagwEk, 7Tyry VTV ERE 1
39 | K901—2016—B| AR b (SWH) M6X 16 4
40 FUOL—AT kT IV VERE 1
41 F—A(T+x -84y }) YU VERE 1
42 FR—=ZA(TA—=H T by }) VY VER 1
43 2y EAVAVE fr) 4
44 | K083—1640 FOL—H AT — 1
45 | K902—2032 INEFSFARL b M8X 16 1
46 | K838—2105 +IHEF oy b M8 1
47 | K083—1650 FVLT—AHE—} 2
48 | K901—2016—B| ~<SAARNL b+ (SWH) M6X16 5
49 | K083—1670 I v x— 2HB{E 1
50 | K901—2016—B| 7S+ b (SWT) M6X16 4
2000. 1



831

42

45 43

2000. 1

"”'t 914HSTD



I o -1 —-28 831

BHNo.| & & &5 &8 fh # B ] H B | RiEH | T8
51 | K902—2033—B| /ME/SFAHRIL b (SWHt) M8X20 4
52 TANET vy TY, Ta—Ih | TV VEm 1
53 | K083—1840 L7 4 L ZHUTA 1
54 | K902—2033—B| /MNE/NAFRL + (SWH) M8X20 3
55 | K083—1860 BRI R — 2 (T A NE—T DY) $ 8X210L 1

2000. 1



831 #HHI=ZES

v,.t 914HSTD 2000. 1



g$HmES 831

HiiNo.| & & & % woo& & K ] L2 A% | FEE | T
1 | K040—1460 A 10X10 1
2 | K061—1460 LS—E R b 1
3 | K929—4206 RS (K1E) M10 1
4 | K930—5228 Y 3X20 1
5 | K824—1207 g 6X16 1
6 | K930—0208 qy 2X16 1
7 | K083—1230 FyvavIT= 1
8 | K936—1012 A LD S12 2
9 | K083—1012 A4 VI —24 1

10 | K083—2011 EFIvYaYv 1
11 | K941—1107 *— (it 5X5X22 1
12 | K902—4034 INER AR b M8X25 (7T) 6
13 | K929—2205 SRS M8 6
14 | K838—2105 Y FHEF v b M8 6
15 | K081—1230 a4 vh N 1
16 | K902—4031 INEFSAARL b M8X12 (7T) 2
17 | K083—1210 RS 1
18 | K941—1106 F— (k) 5X5X20 1
19 | K941—1110 *— (Wit 5X5X%X30 1
20 | K0s1—1241 FREE 75 U=y b 2
21 | K902—2032 INEFSEARNL b M8X 16 4
22 | K838—2105 +S5HWF v b M8 4
23 | K083—1220 R VE SR 1
24 | K910—3122 NARG I AZXY (FH)RE) M8X20 1
25 | K916—6205 AN 7y AN M8 (3fd#) 1
26 | K831—1027 VAL b SA-27 (W800) 1
27 | K061—1510 F—H TV —F L 5 —Assy 1
28 | K083—3011 B~y v+ () 1
29 | K083—3022 B~y v b (k) 1
30 | K901—2068 NALLE EE) M10X100 ¥ % ¥ 2
31 | K838—2106 H ISy b M10 2
32 | K902—2032 NESRARL b M8X 16 1
33 | K838—2105 + Sy b M8 1
34 | K083—3031 B~y by FX 1
35 | K902—2032—B| /NESAFL F (SWH) M8X 16 4
36 | K901—4015—B| ~ALKL b (SWH) M6X12 (7T) 1
37 | K705—5247 *—HEIERZAT) 7 1
38 | K060—1250 NN 2
39 | K929—2205 S S M8 4
40 | K902—2033—B| /NME/SAAL + (SWHT) M8X20 4
41 | K083—1260 By 4TV — LEE) 1
42 | K083—1280 VAT AVEYN 1
43 | K902—2033—B| /MEAfARL F (SWH) M8X20 2
44 | K083—1411 AIVATF U a YT — A 1
45 | K04016—50120| FH:4: 12X22X1.6 1
46 | K936—1012 il FH 1L By S12 1
47 | K0O60—1431 EFTF VY g vN— 1
48 | K902—2040 INES R b M8X55 1
49 | K929—2204 SERES M6 1
50 | K916—4205 INESAET o b M8 1
2000. 1



BN =ES

831

2000. 1

1,,..& 914HSTD



B H{=ZE58 831

HfiNo.| # & & 5 wOoR &2 K % L2 M RN | B T
51 | K53335—3827 | #w v &F Y a ViRt 1
52 | K831—1031 VAR b (H Y v 4 ~lE) SA31 (WB800) 1
53 | K082—1400 E7vr—a 1
54 | K902—4053—B| /MNEAAAL b (SWHT) M10X25 (7T) 3
55 | K902—4052—B| /MESAERL b (SWIT) M10X20 (7T) 2
56 | K902—4054—B| /NESAARNL b (SWI) M10X30 (7T) 1
57 | K929—4276 SRS M10 2
58 | K083—1441 TUIFY g VT — A 1
59 | K929—8209 SRS M16 1
60 | K930—0241 ajy 4X32 1
61 | K931—1129 ATy VT 5% 18 1
62 | K082—1320 TavFyia S 1
63 | K938—1723 A—ARF7TY VT 6203LLU 2
64 | K936—1017 A IE D & S17 1
65 | K084—1260 TANB YD 1
66 | K083—1271 H YT L — AT 1
67 | K083—1290 [l k& EL b 2
68 | K838—2105 +S5EF vy b M8 4

2000. 1



831 > bOA—JLER

RPN

10—
®

Ht*t 914HSTD 2000. 1

10




ar ha—JLEE 831

RiiNo.| B & & 5 mOoO&m &2 &K ] ) g | RubHify | AN T
1 | K040—2670 Az &R 2
2 | K908—1213 B = TASD VI M4X 10 4
3 | K838—2102 HS5Fy b M4 4
4 | K053—9110 K% 1
5 | K060—3570 Ya— b EFLIN— 1
6 | K706—1210 ERER T v 1
7 | K929—4276 SEHES M10 1
8 | K806—6204 Urwv b M10 1
9 | K081—3930 ZF1)1240% 7 1 1

10 | K050—4131 o8 1
11 | K803—0227 avi Vashl!IGAE % M8 X 20 2
12 | K058—3110 TR 4
13 | K908—1214 R R=24 | ARV A S M4X12 4
14 | K082—3100 PR1E8 1
15 | K083—3120 ;LAY 1
16 | K913—3308 73V IONAARL (B) M6X16 8
17 | K083—7201 % 1
18 | K931—1122 2ATY TV 4X20 1
19 | K082—7210 FEHE Sy T — 1
20 | K931—1121 ATSY IV 4X18 1
21 | K082—3290 ZX¥YI125THT # 1
22 | K081—0331 ZY—7 1
23 | K929—2205 SERE S M8 1
24 | K081—7230 IRE-L LHSA-8 2
25 | K838—2105 YRS v b M8 2
26 | K083—3190 FE®ED o F 1
27 | K921—1205 T3V PFy b(EL—Y 3 /D) MS8 2
28 | K082—3131 FERSTPT - L 1
29 | K931—1132 VA VE A 5X25 1
30 | K931—1117 A VE A 3X25 1
31 | K705—3226 ATY T 1
32 | K082—3310 FEHRT — L 1
33 | K081—3140 ST T—bhT— 1
34 | K082—7301 ST FT—AELNR 1
35 | K902—2032—B| /MEAAAL + (SWIT) M8X16 1
36 | K929—2205 WS M8 1
37 | K060—3430 Los—FEET o F 1
38 | K916—1204 ATy b M6 2
39 | K005—4540 s x M12 1
40 | K835—2554 oy FTVF (LE) M6X1 2
41 | Ko61—3441 LN T - 4 1
42 | K061—3441—B| FEIEK 2
43 | K061—3650 IV oy -t 1
44 | K806—3205 F40vFy b M12 1
45 | K081—7240 T k=Y 1
46 | K931—1132 2T) Ty 5X25 1
47 | K082—0600 Z A4y F VYR 1
48 | K083—7253 T PT— A 1
49 | K081—7260 IV RE-L 1
50 | K081—7270 VA WEVN F=1 | 1
2000. 1

11



831 > bO—JLER

N

®

120
121
A

124

2\122
¥ 129
123 105

103

=

1
10

1,,..& 914HSTD 2000. 1

12



a> ba—JLER 831

HiiNo.| % & 5 BOoOs & K 14 L2 % Ry | ElE T
51 | K937—0208 EVYY E8 2
52 | K082—7280 VAVESE'S J=L 4 1
53 | K082—7290 SINT—LKES T — 2
54 | K901—2015—B| AL+ (SWH) M6X 12 2
55 | K936—1015 L p== N oL S15 2
56 | K902—2033—B| /MNESAFIL b (SWT) M8X20 2
57 | K082—3110 737y PR 1
58 | K059—3152 hy @87 —-4757 v b 1
59 | K929—2205 SRS M8 1
60 | K902—2032—B| /NERAFRNL b (SWH) M8X 16 2
61 | K938—1367 A=A RFTY VY 62677 1
62 | K060—3161 T — A4 1
63 | K838—2104 +SHEF b M6 3
64 | K929—4204 RS (K1E) M6 2
65 | K927—1106 M s K4 M&-1L 1
66 | K806—6203 Ut M8 1
67 | K901—4020 NAFRL b M6X35 (7T) 1
68 | K916—1204 aY::i ab ) Mé6 1
69 | K082—3481 X —=H 5y FLIN— 1
70 | K828—2192 T3V Tyva * 4 L Z80F1220 1
71 | K929—3207 g (i) M12 1
72 | K930—5228 ay 3X20 1
73 | K082—3330 N VT =4 () 1
74 | K828—2112 I35V T gy a * 4 L Z80F1215 1
75 | K929—3207 EREEE (AL M12 1
76 | K930—5228 E =g 3X20 1
77 | K053—3340 IR Ay A VAR 1
78 | K929—2205 SRS M8 2
79 | K930—5228 R 3X20 2
80 | K083—3501 A —HrIF79FI74% 1
81 | K824—1295 UEfF ¥ v 8X18 1
82 | K930—5228 ] 3X20 1
83 | K083—3520 ATy PALIS—T T4 5 b 1
84 | K901—2004—B| ~FENL b+ (SWHI) M5X16 2
85 | K083—3550 2y LT AY 1
86 | K083—3510 AWy RILLIN— 1
87 | K927—3106 ms % L8 1
88 | K929—2205 SRS M8 1
89 | K806—8203 F4avry b M8 1
90 | K822—6301 #Y (Fg) 1
91 | K082—3490 ZF Y 1250K 7 H 1
92 | K083—3230 Y4 K25 yF LN 1
93 | K929—2209 SRS M16 1
94 | K930—0241 = 4X32 1
95 | K083—3241 A FTTyFLIN—T =4 1
96 | K083—3210 HA4 KTy FLIS—K 1
97 | K083—3220 HA4 KT 9FLIN-FK 1
98 | K901—2033 INEFSAERL b M8 X 20 4
99 | K838—2105 + ISy b M8 4

100 | K56731—56121| =¥V 12—342u 2
2000. 1

13



v*t 914HSTD 2000. 1

14




O  bO—IJLER 831
HiiNo.| & & & 5 ®soR % W 1% L2 R | RERL | T
101 | K083—3251 YA F2F9Fay F7—4 1
102 | K931—1132 2Ty Y 5X25 1
103 | K916—4205 INESRAT b M8 6
104 | K083—3280 YA R IF9FATY T 2
105 | K083—3540 FvyavELLS 3
106 | K083—7310 ERYNIINT 1
107 | K083—7320 ERUNRFY g 2
108 | K083—3300 YA F 2T 9yFERVATY VY 2
109 | K929—4204 TR (KPR) Mé 2
110 | K083—7021 Y4 K25 9F7—4 (F) 1
111 | K083—7011 Y4 P25 9FT7—4 () 1
112 | K060—3352 TL—FLIN— 1
113 | K929—3207 FrEg (k) M12 1
114 | K930—5228 "y 3X20 1
115 | K082—3530 ZF¥)Y12—45Ps0 1
116 | K083—3360 TL—FY A 1
117 | K931—1131 2T Y 5X22 1
118 | K931—1116 ZTY) Y 3X22 1
119 | K060—3371 VAL DIVt 1
120 | K929—4206 REg (KTE) M10 2
121 | K937—0208 EVvy E8 2
122 | K060—3390 ETY VY 1
123 | K929—4207 i (KIE) M12 1
124 | K937—0210 EYyY E10 1
125 | K060—3340 TL—-%7—-4B 1
126 | K929—2205 FrEE MS8 3
127 | K930—0217 - < 2.5X16 3
128 | K060—3331 TLV—F7—-ALA 1
129 | K060—3321 25 wFRATY T 1
130 | K901—2037—B| /MEAHAEL b (SWI) M8X40 2
131 | K083—7271 Y7 hTay s 1
132 | K902—0037 INESFAFRL b M8X40 (11T) 1
133 | K926—1206 IS ES M8 1
134 | K081—7310 HgTNEAL Vb M8X8 2
135 | K931—1117 2T oY 3X25 1
2000. 1

15



831 ETTHB

v*t 914HSTD 2000. 1

16



EfT8 831

HiiNo.| # & & 5 OB &% 14 A% | RHG | A T
1 | K083—2250 ETTLV— 4 1
2 | K083—2310 TARITL—4 (k) 1
3 | K083—2320 T4 RKTTIL—4 (F) 1
4 | K906—1238 PR AL b A1-M10X25 4
5 | K838—2106 Y SHEF b M10 4
6 | K083—2331 TARITIL—LYFE 1
7 | K902—2052—B| /MEAfAL + (SWH) M10X20 2
8 | K060—2350 Frigvay K 2
9 | K929—2206 EHES M10 6

10 | K916—4206 INESIF b M10 4
11 | K930—5273 Hy 3X16 2
12 | K083—2150 Hrua—3 230-72-34 2
13 | K060—2410 il (K) 2
14 | K060—2450 ks (D) 2
15 | K030—0170 by ru—3 2
16 | K938—1724 BT YUY 6204LLU 12
17 | K252—0350 LI Y] 12
18 | K929—4276 SERES M10 6
19 | K902—2052—B| /MEAFERL b (SWE) M10X20 10
20 | K059—2210 TH AN — A% (k) 1
21 | K059—2220 T AN — A2 () 1
22 | K953—3202 ZPYR= TN C-PT1/8 2
23 | K060—2100 sa—3Z27a% v b 2
24 | K081—0172 TV F7FLr—1} 2
25 | K902—2053—B| /MEAAENL F (SWH) M10X25 2
2000. 1

17



- Bt 2 U HB

HIN—

831

2000. 1

914HSTD

18

Tt

-"



HIN— - B2 78 831

HiliNo.| & & & & ®moOo® &% K 1% L2 fE8 [FikHh | B T
1 | K083—7151 ez 1
2 | K255—2440 ThISy F Y 1
3 | K255—2420 bl 1
4 | K901—2016 AL b M6X 16 4
5 | K812—1006 2 Py BRI WF6 4
6 | Ko61—7152—3| Z bL —F 1
7 | K255—2450 AvoFey T 1
8 | K061—7152—4 | BB — o 1
9 | KO61—7152—5| T L8y Fv (BB —) 1

10 | K908—1214 +FZRAYtF AR Y M4X12 5
11 | K050—2290 it = & 4
12 | K838—2104 ¥ ISy b M6 8
13 | K083—1871 BE R -2 (v —82 ) $ 7.5X1200 1
14 | K836—0013 F e 82 IR 413 2
15 | K083—7510 BB 27— (£) 1
16 | K083—7520 Bieg 25— (h) 1
17 | K902—2052 INERFAFIL b M10X20 4
18 | K838—2106 +SEF b M10 4
19 | K083—8150 Byl hIN— 1
20 | K060—8141 2y HN—TSE 2
21 | K838—2104 +S5HEF b M6 4
22 | K083—8160 AV Fw MR (£) 1
23 | K083—8171 A3y MR () 1
24 | KO60—8180 HIN—F vy F 4
25 | K913—3207 75 v VHAAEL N (B) M6X12 4
26 | K838—2104 YISy b M6 4
27 | K060—8190 HA ZHF 4
28 | K083—8100 AV X b 1
29 | K901—2016—B| <R b (SWHt) M6X 16 2
30 | K061—8130 7 IEF 1
31 | K061—8500 FHBRAR 1
32 | K901—2016—B| ~fA+L b (SWT) M6X16 2
33 | K712—1101 TLINY R 2
34 | K083—8110 T2 H 307 2
35 | K908—1236 S = A D ARV \W 7 M6X 12 2
36 | K838—2104 +SHES b M6 2
37 | K083—8200 HALY) V& 2
38 | K838—4106 279y 2+ y b M10 4
39 | K083—8200—3| FEHE4: 10X18X 1.6 4
40 | K929—4276 SERES M10 2
41 | K083—8460 Syl avTIr oy b hIN— 1
42 | K060—8510 IRy -2 1
43 | K083—3810 AR () 1
44 | K083—3820 AhdRE (5) 1
45 | K929—2205 SERES: M8 4
46 | K902—2032—B| /MEAMERL b (SWH) M8X 16 6
47 | K083—3831 At (ff) 1
48 | K083—3840 Ak () 1
49 | K902—2032 INESRFERL b M8X 16 2
50 | K838—2105 $S5HEF v b M8 2
2000. 1

19



- WEt 2 2 T EB

HIN—

831

|®/m...

2000. 1

1,,..& 914HSTD

20



HiIN— - B¥2 78 831

HiiNo.| ® & & 5 wOoBm & K i L34 TR | RukHn | e TR
51 | K083—3850 AR T 1
52 | K083—3050 BRI G (£) 1
53 | K083—3060 BEBENS (H) 1
54 | K902—2033—B| /MK L b (SWHH) M8X20 2
55 | K902—2033 MNESRAEARL b M8X 20 2
56 | K838—2105 + ISy b M8 2
57 | K083—8210 Bl A 7S — 1
58 | K913—3207 753V ARL L (B) M6X 12 6
59 | K834—0007 Xy b C30-NG-79J 1
60 | K061—9520 Aok $6 1
61 | K083—8450 Ny TFUAE 1
62 | K902—2033—B| /MNESAAL b (SWHH) M8X20 2
63 | K0O60—5420 VI F—TF2 1530 1
64 | K083—5460 J7 b F—F3 1875 2
65 | K083—8200—1| kM4 4
66 | K083—8200—3| EHE4 10X18X1.6 4
2000. 1

21




831 HEER

(® DETAIL DETAIL 53

) 24 6 - 47 54\
3 o P
@ 32 3

Q \\ 45
G A
%\Ss 35 ° 52
51
\, 50
49
48

t*t 914HSTD 2000. 1

22




MERR 831

BHNo.| & &5 5 i £ 77:8 ] = g | kB | e T8
1 | K083—2510 WHE Sy r—o 1 0.5
2 | K941—1180 AT — (ML) 5X5X18 1 0.5
3 | K083—1380 WET—VY 1
4 | K929—4276 S M10 1
5 | K901—2051—B| /NMEAMAAL b (SWh) M10X16 1
6 | K060—2740 oy vy 1BG-35 1
7 | K083—2521 2354 F&R 1
8 | K901—2034—B| /MNE/AAKRL + (SWIT) M8 X 25 4 5
9 | K060—2710 90° TR ($00.9) 1/4PTXPF * Z 1

10 | K929—2205 S M8 4

11 | K916—4205 NESNAF 9 b M8 2 5

12 | K060—2530 F—ZAT)LAE 1

13 | K083—2540 s — 2 12X 16X 230 1

14 | K836—1016 F—ZANYF 1

15 | K083—2560 F—RAT Iy b 1

16 | K901—2016—B| KL + (SWHH) M6X 16 2 5

17 | K0o60—2721 90° TR (§00.7) 1/4PTXPF X X 2

18 | K834—0011 Ay b 1

19 | K060—2550 k- 2 1

20 | K060—2600 T AT — NI TR G 1 0.4

21 | K060—2600—1| V=&V AT ) v 1

22 | KO60—2600—2| /N 7HE@) 7 — A4 1

23 | Ko60—2600—3| K- 1

24 | KO60—2600—4| /S THEE T —LT I 9 b 1

25 | KO60—2600—5| A 7Y v 1

26 | KO60—2600—6| 7 b A/3— 1

27 | K060—2690 WHIESL T LS — 1

28 | K916—6205 INERAT b M8 (3f#) 1

29 | K082—2680 ~¥1) 8§-35Wxr 1

30 | K913—3307 75V AN ARL N () M6X 12 4 5

31 | Ko60—2611 WES Y v & (%) 1 0.5

32 | Ko60—2611—1| Y YV & Fa—7 Oy RFAan—bey b 1

33 | K060—2611—2| ¥ 2 Fvuay F 1

34 | KO60—2611—3| v FAh/3— YYUHFa-TEEy M 1

35 | K819—8017 R WPL-40 1

36 | KO60—2611—4| 7% %~ HSD-40 1

37 | KO60—2611—5| /N9 27 97 TCS40X32 2

38 | KO60—2611—6| /S F v SKY-25 1

39 | Ko60—2611—7| A& L —s3 DHS-25 1

40 | K824—1229 gAY ¥ v 10X 45 1 5

41 | K824—1232 FIEL R 10X 60 1 5

42 | K929—4276 SRS M10 2

43 | K930—5228 E = 3X20 2 10

44 | K060—2651 WEYY Y& (u—=Y ) 1 0.3

45 | KO60—2651—1| Y YV & Fa—7 Oy Fhn—ety b 1

46 | KO60—2651—2| 2 b uay ¥ 1

47 | K060—2651—3| o FAH/3— YYUHF-TEEy M 1

48 | KO60—2651—4| ¥ X k¥ 1

49 | K060—2651—5| 7SoF v Ny 27 v 7f) HSD-30, TCS-30X22| 1set 5

50 | K060—2651—6| OV > 7 1BP-9 5
2000. 1

23



831

JHEEB

DETAIL
47
55 \
46 \®
’\\‘

1

v*t 914HSTD

2000. 1



MERR 831

Ri!No.| & & & 5 oS B 1% L R | RiEBIAT | FEHE T8

51 | K926—1208 ISR HES M10 1 5

52 | K806—1204 UF v b M10 1 5

53 | K060—2651—7| 7Sw ¥ (Sy o7 v Tft) 1BP-16, T2P-16 1set 5

54 | K951—5030 WM 1B-G30 1 5

55 | KO60—2651—8| # Z b — ) DHS-16 1

56 | KO58—2630 VAL (R 1

57 | K929—2208 SRS M14 2 5

58 | K930—0241 "y 4X32 3 10

59 | K929—2209 SRS M16 1 5

60 | K083—2810 HE A — X 1260LX PF £ X 1

61 | K083—2830 HWEF— X 1440LX PF #* X 1

62 | K083—2820 HWE A — 1380LX PF £ 2

63 | K083—2850 WIE & — 1520LX PF * Z 2

64 | K853—1201 Ty vy 1

65 | K060—2881 90° TAK 1/4PTXPF X X 6

66 | K060—2891 45° TLE 1/4PTXPF £ X 3

2000. 1

25



831 A—# - T

v*t 914HSTD 2000. 1

26




+—%4 - 7078 831

R#iNo.| & & & 5 =Y fi # i ] = s | R | AT T
1 | K058—5310 TA—LF YRR 1 1.5
2 | K811—2124 FANY =N TC30458 3
3 | K058—5430 7 — 77 A 1
4 | K939—3405 F—)Sg—FRFY VS 30205 1
5 | K053—5370 RN — 2
6 | K941—1179 ¥ — (i) 7X7X60 1
7 | K702—3206 A 1
8 | K938—1125 BEeARTY VY 6205 1
9 | K058—5360 X7Y Y F—F 1

10 | K951—2060 oy v G60 1 5
11 | K053—5330 Yk —bLFyy S 1
12 | K060—4300 * — A 1 1.0
13 | K941—1320 SFird — (MF) TXTX45 1
14 | K702—4207 Yok — bk =L 1 2.0
15 | K938—1126 A=A RT7Y VT 6206 2
16 | K053—5391 ISy F Y 1 1.0
17 | K053—5320 Yok — bRy 7 A7 1
18 | K902—3033—B| /MESNALRL b (SWIT) M8X20 3 5
19 | K709—2111—D| ¥ v —F 1L b (N - SWf}) M10X25 2 30
20 | K910—4118 SAERMNIEA XY (2K3%) M8X 12 1 5
21 | K952—1204 75 PT1/2 1
22 | K952—1202 75 PT1/4 1 5
23 | K812—1008 Iy |y RS WF8 1 5
24 | K902—2032 MNESRAARN b M8X16 1 5
25 | K902—2053 NES AL b M10X25 (7T) 1 5
26 | K916—4206 NESRFF b M10 1 5
27 | K083—4510 7 a7 1
28 | K953—2202 YAy TN B-PT1/8 1
29 | K061—4520 Tag i 1
30 | K954—0015 X7V VYIRS b AN15 1
31 | K955—0115 RT7TYVITHT 9V % AW15 1
32 | K061—5220 VA=A 1
33 | K938—1726 A=A RT7TY VY 6206LLU 2
34 | K061—5440 AN —H 1
35 | K061—5450 AN = 1
36 | K941—1221 Eirrd— (W) 7X7X50 1
37 | KO60—4550 Tag -y 1
38 | K009—0480 TV FSLr—F 10X32X3.0 1
39 | K902—4052L | /MESAERLF (KX Y) M10LX20 (7T) 1
40 | K926—1208L | /YrEEE (£) MI10L (3%) 1
41 | K060—4011 *—H =R 1 1.7
42 | K838—2106 YS5EESF b M10 6 5
43 | K828—1223 Ty¥a * 4 L Z70B-3030 2
44 | K941—1120 Fird — (MdL) 7TXTX45 1
45 | K058—5210 A=A/ 1 1.7
46 | K902—4053 NESAARL b M10X25 (7T) 1 5
47 | K916—4205 MNESAT b M10 1 5
48 | K0O60—4120 7L —F 1 0.1
49 | K906—1424 FARRALIAA L b A1-M8X25 (7T) 7 5
50 | K016—9510 W4 8X25%3.2 7
2000. 1

27



831 F—# 7O

.t,,.t 914HSTD 2000. 1

28



-4 7078 831
RiNo.| & & & 5 OB & 1% L1 g |RIELN | BT

51 | K838—2105 + 58S o b M8 21 5

52 | K926—1209 IS TS M12 4

53 | K061—4211L * — 4 — 2R (5) 1 0.3
54 | K061—4211R A —Hr — 2R (h) 1 0.3
55 | K901—2032 INEFSARL b M8X16 14 5

56 | K941—1195 47— (k) TXTX24 2

57 | K053—5121 A — # K X 2

58 | K902—4032 INESFAARL b M8X16 (7T) 4 5

59 | K082—4310L *—F (k) 1 0.5
60 | K082—4310R *—# (hH) 1 0.5
61 | K828—1123 Tova 30X34X30 2

62 | K061—5170 T —HAAN 2

63 | K938—1725 RK—=ARTY VT 6205LLU 2

64 | K936—2052 FKHACHAL A s R-52 2 5

65 | K016—0100 H—p1) S 2

66 | K906—3239 FABAGEAR L b B-M10X 30 6 5

67 | K838—2106 + IS b M10 6 5

68 | K902—4073 IMNESHER L B M12X30 (8T) 4 5

69 | K053—5410 YKy 2% 1

70 | K901—2053 INESFR L b M10X25 2 5

71 | K838—2106 N 5 M10 6 5

72 | K831—3040 VAL b SB-40 (W800) 2 0.5
73 | K901—2055 INES AR b M10X35 2 5

74 | K929—4276 SERE S M10 2 5

75 | K060—4130 A 2

76 | K060—4140 V) EEANL b 2

77 | K926—1208 VAR 5 M10 4

78 | K916—4256 NESSFIT b M10 (P1.25) 4 5

79 | K028—5410 H 4 Fw—29 1

80 | K906—1238 FARALEEAR L b A1-M10X 25 2 5

2000. 1

29



> 21— bEB

831

2000. 1

30

1”'t 914HSTD



~

va— BB 831
RHNo.| ¥ W & 5 8 i % ¥ 4 fE% |RAHM| FEUE T8
1 | K061—6112 v a— b 1 0.3
2 | K081—2200 Va—bFr TNy F Y 2
3 | K061—6220 Va—-bFrvouTl 1
4 | K0O61—6230 AEE::) 1
5 | K838—2104 HIEEF b M6 4 5
6 | K082—5150 Ya—bFHAFR 3
7 | K061—6210 Va—bFFyy T2 1
8 | K061—6250 AT - 2
9 | K807—1004 b5 R WW-8 4
10 | K929—2205 SRS M8 4
11 | K930—5228 4y 3X20 4 10
12 | K705—3249 Va—bEERZATY VS 1
13 | K0o60—5111 va—bEY 1
14 | K060—5210 Yy 1
15 | K901—2014—B| +#5Xff5AmFkL b (SFWHE) M6X10 6
16 | K083—8660 F—HN—3R 1
17 | K060—5340 E—H HIN— 1 5
18 | K901—2016—B| ~f+FNL + (SWH) M6X 16 1 5
19 | K929—4204 g (KiE) M6 2
20 | K906—1222 FARALIEA L b A1-M8X16 4 5
21 | K926—1204 IS S M6 3
22 | K838—2105 ¥ IS o b M8 4 5
23 | K060—5332 E—HT Ty b 1
24 | K058—6220 Y —T7F 4 H—F 1
25 | K901—2015 FNEEL b M6X12 4 5
26 | K838—2104 + ISy b M6 4
27 | K901—2016—B| ~fANL + (SWIT) M6X16 3
28 | K061—9540 ToyYvy 1
29 | K083—3610 Ya—bFEF74Y% 1 0.3
30 | K824—2207 FIELE 6X16 1 5
31 | K930—0208 e 2X16 2 10
32 | K929—2204 VRS M6 1 5
33 | K016—0070 T4 Y RT— 1
34 | K901—2017—B| ~HAKRIL + (SWT) M6X 20 1 5
35 | K929—4204 WA (KTR) M6 1 5
36 | K929—4204 SERESE (KTE) M6 3 5
37 | K060—8620 -4 1
38 | K908—4236 +FZR N FAhR D M6X12 3
39 | K901—2017—B| ~AHAL b (SWHT) M6X20 1
40 | K060—5310 E—AEY 1
41 | K05411—00422| 27V v ¥ v 4X22 1
2000. 1

31



B

831

2000. 1

32

.‘,’.t 914HSTD




LS 831

RENo.| M &% & 5 il B £ FiN £ = {R¥ | RFHA | A0 L8

1 | K083—1130 Ny FUThISyFY 1

2 | K753—1006 Ny T 55B24L 1

3 | K083—8040 Ny 7)) (=) r—=7n 1

4 | K083—8020 Ny T Y (+) F—=Tn 1

5 | K083—8491 Ny FUMIEL b 2

6 | K083—8470 AR 1

7 | K929—2204 SRS M6 2

8 | K920—1204 S o b M6 2

9 | K083—8480 Ny FIURTIT AL 2
10 | K050—7431 F4 bRA yF 1
11 | K050—7420 ~y FI4 b 2
12 | K050—7420—1| 94 bL VX (V% F V1) 2
13 | K050—7420—2 | Ik 2
14 | K834—0004 VA= 2
15 | K928—2205 SRR (g M8 2
16 | K902—2033—B| /MEAALKL b (SWH) M8X20 2
17 | K082—8760 A4 FTIr 9 b (A—H) 1
18 | K901—2016 NAEL b M6X16 1
19 | K929—4204 g (KR1E) M6 1
20 | K838—2104 F SRSy b M6 1
21 | K083—8702 JL—7F4 b 1
22 | K908—1236—B| +ZitFH R Y (SWIE) M6X12 4
23 | K908—1237—B| +7FiftF xRy (SWIH) M6X 16 1
24 | K901—2016—B| <AL + (SWIT) M6X 16 2
25 | K908—1226—B| +7#7XftF P (SWHH) M5X 16 2
26 | K083—9480 ta—AKRy oA 1
27 | K757—1020 ta—X 20A 2
28 | K757—1010 Ea—2X 10A 1
29 AA4w— (FVe—=F4 ) Y ER 1
30 Jv—TF vy 7Y (Fa—735)| Y UEM 1
31 | K083—8011 AL UIN— 3R 1
32 | K754—1108 Bkt — T 7 4 A4 v FAssy 1
33 | K081—8310 IYDVARL g F 1
34 | K752—1004—2| TV YV AL 5 F HIN— 1
35 | K752—1004—3| =¥ v F— 1
36 | K081—0510 L IS— A A v F 1
37 | K908—1205—B| 7t~/ Y (SWHE) M3X16 2
38 | K061—9461 ¥ —TF 4 A4 v F 1
39 | K908—1205—B| +7Iift iy (SW) M3X 16 2
40 | K081—0530 24 —-2HNOY L — 1
41 | K082—8630 Voo — MEBIZ A v F (V7 ART197) 1
42 | K060—8640 JEwEL 21 v F 1
43 | K060—8650 ISENT A b 1
44 | K838—2102 H IS b M4 2
45 | K083—8620 Ay Or—4 (AvEi—-vavsvy) 1
46 | K060—8670 Jr— ((g—4-—) 2
47 | K754—1108—2| 5lHiR -7 7 4 A4 v FF v v 7 1
48 | K926—1204 IN S M6 2
49 | K757—1030 a—X 30A 1

2000. 1

33



831

"”lt 914HSTD 2000. 1

34




A5y hE 831

HfiNo.| 2 & 5 5 S R R fEg Rk | e TR
1 | K083—9201 AF v H (Ea—2X) 1
2 | K083—9130 ZF v h (N b—E) 1
3 | E000043 HI L (G 1
4 | E000041 HIN (77 7 &) 1
5 | $S9999—0006 BN (REDZDID) 1
6 | S9999—0007 BTN (H3-) 3
7 | S9999—0009 I NN G-k~ —2) 1
8 | S9999—0010 EHINL (Tudfag~—2) 1
9 | $9999—0018 HBHIRL (FVT—-FEE) 1

10 A5 v # (914HSTDZ) 1
11 2 F v A (914HSTDA) 1
12 2595 (YANASE) 1
13 A7y # (914DFAE/ S F L) 1
14 25y h (FHERE-7712149%) 1
15 | K083—9210 27y A (fRAG) 1
16 | K083—9220 25w (IR A) 1
17 27w H (GHE/S2 ) 1
18 27w Hh (BENO) 1
19 | K060—9152 27y h (BE8H) 1
20 | K060—9162 2Ty (BERE) 1
2000. 1

35



TR

831

RBE£-IbYE-KY

E3=] . - z2 ¢
Jﬁ ,
s —_ N 0

3 8 Is 9i F<m

1
LAy - H— ﬁ
THES @ ) (L
H T T L—4 —

| ,;W?@

m ¥
¥

N ek

|
|
1
I
f

W\
T U— s 4
@ \y AY PN Vo ad o g U\ A P ¥
T
L ¥h w W \V N T T 7oV T\ \ V— A
s \{ \V % \ Ve
€. =
i
Mmire B ¥
=]
N m OS]
=] 1ve]
o SR
®G Lok
5 RELGTAAS £ELYE—§Y

LA&AU )k

L

5

©

o
— @ ]
— @
— @
—

L)LY £4 )Y £r )Y
£ rY B —ar -4 Ny ; — a
yLr—7 g o2 % C—¥ Ler—ng  ¥H =

2000. 1

36

.",.t 914HSTD




I
Engine Parts

Model MD700D Type BMO1

Top
VA A ] I\gB .......................................... 38~39
Cylinder Head
S E T T&F A IINER eeeeeececneiniienns 40~41

Cylinder Block & Oil Pan
BAITXNYHAN—QVTILRTL— bEE --42~43
Timing Gear Cover & Rear End Plate

9529 %7 r&E X I\‘/EB ........................ 44 ~45
Crankshaft & Piston

FIS 4T F&INILTER ceveeecereenennnenianniiennaa... 46~47
Camshaft & Valve

FAIR TR A — RABR L TEE ceoeeereriencinnnnns 48~49
Oil Pump & Water Pump
FUI—BR&T+—FTF T hLy RER ooeeeeeeeeeees 50~51
Radiator & Water Outlet

IT,rs/j—__?&I#\/_x I\gB ..................... 52~53
Air Intake & Exhaust

T T 1) —FHE ceeeeeeencesnetiiiitiiiiiiiiniiiiiniiiinee. 54~55
Air Cleaner

7“|:|_7°3 7“%{3 ............................................. 56~57
Glow Plug

A2 T3/ ZTIVER seeeevrenececiinniiniiinca, 58~59
Injection Nozzle

12012723 KTy TUER oeeeeeeees 60~61
Injection Pump Assembly

TaA—TIT 4 ILREFR— XER cevreececnrerceancnnn. 62~63
Fuel Filter

%)I:Egg ......................................................... 64~65

Electrical Equipment

37

2000. 1



) EnNy REB

831

2000. 1

"”‘t 914HSTD

38




8~y K& 831

RiNo.| & & &F 5 wo&m & K 1% = A% | RIEHN | R T8
11| 11101—87804 | ~w F¥ T 7 vy T, Y YUK 1
13| 90041—19904 | KL b, DAXT y ¥y (V) V4~ FHIA) 14
16 | 11115—87805 | # A7 v b, LYY &Ny F 1
20 | 96411—43000 | 772, # 4 b 2
21| 96411—41800 | 74, #4 b 2
26 | 11128—87801 | 7'y ¥ a, ST H4 FT U =2 b 6
28 | 90045—20180 |V ¥, ¥ ¥ 7 FAFy T 1
411 12261—87803 | F— A, Ry F L -V g v 1
44 | 11201—87802 | AN—=H#T Ty vy T, Y/ FANyF 1
45| 90041—76014 | > b, Fx v 7 3
46 | 90042—10029 | 7 v v v, V=N 3
48 | 11213—87801 | H A v b, Y Y HNy FHIN— 1
55| 12180—87103 | ¥+ v 7T vty 7V, AANT 15— 1
56 | 90041—16364 | AN b, 2 F -y F 2
57 | 90041—16430 | AL b, X & F 3
58 | 92122—60618 | AN b, A&y F 2
59 | 92132—60835 | AN b, A Xy F 5
60 | 90041—16436 | KL b, 2% o F 1
80 | 11161—87804 | F v+ ¥ /N, A Y /)Ny ¥ 3 v/ 3
91| 12281—87704 | NV H—, TV 1
92 | 12281—87803 | NNV H—, T VY 1
93 | 91611—60816 | KL b, T4 XT v ¥ 2
94 | 90044—41081 | F 2 — 7 1

2000. 1

39



831 U HA7OvI&AAILINE

t*t 914HSTD 2000. 1

40



vy A7y &F1ILINE 831

RHiNo.| & & & 5 m & & W ] = A% | RvEuh | BT
14 ] 15601—87703 | VAV YT 7 o2y 7Y, A4ALT 414 1
17 11401—87801 | 7w o ¥ T 7wy 7Y, VY& 1
31 90048—01026 | ALt (252 v T bRT7) V7 %4y TEEH) 8
32| 96411—43000 | 722, # 4 b 7
33 11188—87801 | /7 ', hLv v T b P vy 1
35 15795—87801 | / X, A4 L, NO.1 1
36| 90042—50122 &, A PL— b 4
37| 90042—50139 |[¥'v, A bbb —} 3
38 | 90042—53014 ([ ¥», Yy 2
45 | 12101—87802 | /S ¥ T 7wty TY, A4 N 1
50 | 90043—41028 | 77, 94 XNy FAPL—=PZ7 2 2
51 90044—30275 | HF A w b 2
52 12151—87801 | A X7 v b, A NIy 1
53 | 91611—60612 [ KL b, 94X Ty ¥+ 17
54 | 90041—79104 | F# v b 2
61 15301—87801 | ¥ =P H T 7wy T A 4L LRI 1
62| 11452—87801 | 1 F, A ANV RAF =D 1
64 11813—87801 | X7 Y » o', AT v 7+, NO.1 1
68 | 90043—44011 | S5 4, T —Is8— A2 Y 4 1
85 | 90044—04081 | =* ~ 1
86 | 92122—60610 | A b, XA & o5 F 2
87 | 92122—60614 | AL b, X & 5 F 1

2000. 1

41



TXENYHN—-&UTILRTL— MR

243

831

2000. 1

42

914HSTD

rre




ZAILTHXNYHAN-RUTILRTL— M 831

RitiNo.| # Wm & = ®oom & ¥4 L3 A% | REHN ) SRTH
1| 11321—87804 | A/ —, 44 IV IF¥ 1
2] 90043—11327 | ¥ =N, &4 7 "T" F 4N 1
4| 11328—87802 | H A v b, B4 IV ITFY H/)N— 1
5| 91611—60655 | KL b, 74 X7 5y ¥y 3
6| 91611—60645 | AL+, U4 XT v ¥ 2
7| 90041—79059 { > v b 2
8| 91611—60630 | AL b, YA XT v ¥ % 9

10| 11301—87803 | ¥ —A# T 7 vty T, 44 3I/5%Y 1
11| 92122—60614 | AN b, A&y F 1
13| 91611—60616 | KL b, T4 XD v i ¥ 1
14 | 91611—60628 | KL b, A4 X Ty ¥y 4
49 | 11355—87802 | 7V —F, YT7 LUK 1
57 | 11381—87801 | V7 —F, A4 L =N 1
59 | 90043—11326 | ¥ — L, &4 "T" * 4N 1
63| 11383—87801 | H# A v b, A4 NV =LY T —F 1
64| 91611—60620 [ AL+, YA X T vy ¥y 6
65| 91612—61022 [ KL F, Y4 X7 y ¥ ¥ 5
66 | 11312—87801 | H# A7 v b, 24 IV TF YV -2 1
67 | 92122—60625 | Kb, 2 & o F 2
68 | 92122—60828 | AN b, ZF oy F 2

43

2000. 1



831 73272 +v7hP&EXMES

.",.t 914HSTD 2000. 1

44



7527 +%7 F&EX FE 831

RHiNo.| # & & 5 s o& & i = A% | RIEHN | B TE
5| 13111—87805 |V » &', a7y ¥ ar, NO.1 STD 3
5| 13112—87803 |V » ', a2 7Ly ¥ 3, NO.1 A= =4%4 2 0.25mm 3
6| 13121—87805 | Y &', avyFL vy gy, NO.2 STD 3
6| 13122—87803 |V v &', avyFL vy a v, NO.2 F ==+ 4 X 0.25mm 3
7| 13151—87805 | U v, A4 N STD 3
7 13152—87803 | U 7. A AN F =3 —% 4 2 0.25mm 3

11| 11011—87201 | Yy ¥ ¥ty b, 270V ¥ 7 2720 | (VX7 HSTID) 1
11| 11012—87201 |7y ¥ vty b, 272V T PAFAL | A=0=%4 X012mm| 1
18 | 11702—87801 | X7 Y v Tty b, 270V x T+ | (UNTHSTD) 1
18 | 11703—87801 | X7V v ZXy b, 270V ¥ T+ | TV H—¥ 4 X0.25mm 1
19| 13011—87805 |V vty b, EA bV STD 1
19 | 13012—87803 |V v Zxwy b, KA}V A =344 Z0.25mm 1
20 | 13101—87803 | KAy, #7792y 70, 9AXE &Y VY, Ay T | (U X7 HSTD) 3
20 | 13102—87803 | YAty #7792V, 94X &Y VY AfyT | A =3 =H 4 X 0.25mm 3
21| 96151—01800 |V ¥ 2", AF v 6
22 | 13201—87801 |y F, ¥ T 7 yty TN, 2axs74 77 3
25 | 13202—87204 | N7V Y Z ¥y b, AXsTF 4y Tuy F | (UXTHSID) 1
25| 13203—87204 | RXT Yy F ¥y b, AXITF 4V TUyF | T/E—H4 X 0.25mm 1
26 | 13265—87205 | KN+, XTI T 4Oy F 6
27 | 90041—70291 | + v b, ANFH TV 6
28 | 13405—87802 | 77 A kA =AY TT7 v LT Y 1
34 | 13401—87801 |25 V2 v T HTT vy TY 1
54 | 13453—87104 | ¥V, 774 FA LY V7 1
55 | 90041—05221 | AL b, Ty¥ e R=AFAy FAFH TV 6
58 | 13471—87803 | 7'—VY. 252 %7 b 1
59 | 90041—05139 | KL b, Ty V¥ R=AFAy FAFH TV 1
62 | 13521—87801 | ¥¥, /7o v T b 1
64 | 90042—54074 | ¥V, AV y Ty FRATY) VT 1
65 | 90042—80031 | F¥—., Vv FF7 1
74 | 13041—87204 | XT Y VT, AX T4 Ay F 3
75| 13581—87801 | ¥ v 7 b, 74 FAFY 1
76 | 13508—87801 | ¥¥. 77 vk 7Y, TA L 1
77 | 13572—87801 | L — b, T4 FAFY X F A b 1
78 | 90041—05220 | FA b, Ty Yy X=X FAy FAFHTY 2
2000. 1

45



831 HLI+v T MN&INILVTER

23

.",.t 914HSTD | 2000. 1

46



HLS v 7 F&INILTEE 831

RHiNo.| B & F & s & & W & H % {FiHN | ERETH
15 13511—87802 | H &L ¥ 7 b 1
19 13571—87801 | 'L — b, HLV ¥ TP AT X b 1
20| 91611—60618 | KL+, YA XD v % 3
21 13523—87801 | ¥¥. HhAL vy T bEA IV 1
23 13711—87803 | SV T, 4 V5 —2 3
24 13715—87803 | S 7, THFJ— R b 3
25 13751—87801 | Y 7 &4 —, /ST 6
26 13781—87801 |2 v N, NSAT Ty a 6
28 13734—87801 | ¥ — b WA T AT Y 6
290 | 90048—12020 | > — I, NI T ZAFLE AN 6
32 13741—87702 | V7 —F, XA T ATy V7 6
33| 90048—13006 | T w2, WA T ALY V7Y F—F 12
34 | 90045—01632 | ATV &, avy L ya v 6
35 13716—87801 | ¥+ v 7. UL T X T A 6
40 13811—87802 | 7 — 4, /8T v — 6
42 | 90048—15008 | A2 a2, WA T TN AT 4 V¥ 6
43 | 94130—60600 | 7 v b 6
46 13901—87801 | V¥ 7 F 4T 7wty 7Y, ATy H— 1
47 | 90041—19765 [ KL b, 94 X T v ¥y 1
49 | 90042—80033 | ¥ —, vy F7 7 1
52 13951—87801 | 4K —F+, AT Ty h— 3
53| 96150—010001{ YV v &, X F v 7 2
54 | 90042—01699 | 7 v ¥ v, L — | 3
55 90045—01700 | X 7V > &, av Ly g v 2
56 94130—60800 | + v b 3
57 13958—87801 | A b, 2y A —HK—-rLy b, NO.1 1
59 94611—10800 | 7w ¥ v, L —} 3

2000. 1

47



831 FAAIWKRLT &I+ —2KTE

1,’..& 914HSTD 2000. 1

48



AWK TR+ —2KTE 831

RHNo.| & & &F 5 # &% £ K & = % | R | BT
11 16100—87803 | K 77 vy TV, v xr—4 1
16 13519—87801 | ¥V, A ALKV T FIF34 T 1
17 | 91652—60820 | KL b, D4 X T v ¥ 1
19| 15140—87801 | A bV —FTF oV T, FANEKE LT 1
35 15149—87801 | #X 7 v b, AANA L —FTF VY 1
51 90041—79059 | F+ v | 2
521 9161160612 | AN b, DA X T v ¥ 1
60 15131—87201 { /ST, A4 NLE/ TV Y -7 1
61 90045—01519 | A Y v, av S Ly g v 1
62 | 90044—30186 | i 2 v b 1
63 | 15133—87801 | 7'5 &, AANRY LY =TT 1
71 16271—87801 | HAr v b, U4 —4K/ T 1
73| 16371—87801 |7 —V, wx—4RV T 1
74 | 9004179052 | + » b 2
751 91611—60850 [ KRN b, YA X T v 2
80 | 90043—45010 | 777, 94 ANy FF—=/3—=2 2 4 1
2000. 1

49



JI—B2&TJA—ZT I MLy MR

Y

831

2000. 1

"’,‘t 914HSTD

50



STUI—-2&J4#—42T77J kv b 831

RitiNo.| & @ & 5 mom & K 1% L= % | RIEEL | ARHE T8
5| 16321—87801 |1 YV vy b, T4 —4 1
6| 16325—87801 | H A7 v b, U —F4 Ly b 1
10 [ 91611—60620 | KL b, U4 XT v ¥ % 2

23| 16331—87804 | 7 bL w b, X —4 1
25| 16341—87801 | H Ay b, U —&ZT7 T Ly b 1
27 | 90048—33057 | 4 —FEX & v b 1
30| 91611—60620 | KL b+, Y4 X T vy ¥ ¥ 2
31| 16361—87802 | 7 7 ~ 1
32| 91611—60612 [ KL+, 94 XTI vV ¥ 4
33 | 99321—00926 | ~\JL b "V L=925mm 1
44 | 91611—60820 | KL b, YA X T 9 ¥ ¥ 1
46 | 16381—87803 | /¥—, 77 Y RUIMT VX AT A VT 1
49 | 90041—19743 | ANV b, Y4 X T v ¥ % 1
55 | 16503—87803 | ¥+ 7H T Tyt TY, Ur—4 - YHF-N 1
60 | 16400—87803 | 7Y L—4T 9yt /T 1
63 | 16502—87703 | &V &, IV XL —-AYHF—T 1
66 | 16711—87801 | ¥ 259 F, 77~ 1
68 | 16335—87801 | k— X, v+ —Z 77 bl v b 1
69| 16262—87801 |+ — A, v+ —Z4 L g b 1
72| 90044—67306 | 7V » T 4
80 | 90041—68029 | A2 Y 2, #y VT 1
2000. 1

51



831 I7A5Fr—J&IFJ—XPMER

v*t 914HSTD 2000. 1

52




I7ALT—2&IFJ—X M 831

RiNo.| & W & 5 i T 3 ] = fEE | RN | T
11| 17510—87803 | v 77—, 7Tyt v 7TY 1
12| 17451—87801 | # A7 v b, TF =X b4 T 1
13| 17451—87801 | ixsr v b, TF =X b4 T 1
14 | 90041—79123 | F v | 8
17 | 17101—87801 | v =k —=AFHTT7 92TV, 4 V57 —4 1
20 | 17522—87801 | 7us 24, 23— M84 7707/}, NO2 1
21| 17521—87801 | Ju7s4, ¥y -2 b4 770/}, NO1 1
22 | 58333—87801 | JuFr o8&, X4V T T — 1
29 | 17141—87801 | v=4FK—NL F, =F /- | 1
42 | 17173—87801 | iz y b, LF /=X b v2f-LFY—-Ay ¥ 1
47 | 17177—87802 | ixfry b A VT =92k -LFY =~y F 1
51} 90041—79059 | 7 v b 2
52| 91611—60620 | KL P, Y4 X Ty ¥ % 1
53 | 91611—60660 [ KL F, YA X T vy ¥+ 3
54 | 94185—60800 | & v b, T v o 6
57 | 90041—16323 | AL b, X & o F 4

53

2000. 1



831 I77VV—7%88

v*t 914HSTD 2000. 1

54




I77Y—7F8 831

55

RiNo.l & @ & 5 BOo&m & = 1 = % | REHM| ST
18 | 17700—87802 | # ) —=F Ty 2y 7Y, X7, 94 XXV AV b 1
19 | 44717—87801 | /S F, =72 ) —F K7 — 1
20 | 17881—87804 |+ — X, 7o) —F 1
25| 90044—68277 | 2V v T 2
2000. 1



831 JO-—-737%




Jga—7S5 78 831

RfiNo.| #m & 5 s o@& & K ] = E% | RIEHAL | BEE T8
27| 19850—87801 | 757 vy 7Y, Fua— 3
33| 19871—87801 | A2 &, yu—737 1
2000. 1

57



831 4> x> 3>/ XILER

[~
. /
1 /
<« / 1 4

75

[}
Ta—x) Y E—

914HSTD 2000. 1
58

=
‘
R




119732/ X)VE 831

RHNo.| # @ F 5 wos & W | L33 % |REEN | RS T
14 | 95331—04019 | k— X, 7 2 —TJ 1
21| 11176—87702 { v — b, A ¥V xo ¥ g ¥ ) AN 3
27 | 23600—87801 | ALK —& / ANty b, J XN 3
67 | 23760—87801 | /84 ST vtV TV, JANY =T =T 1
75| 96132—41000 { 7V v 7, Hw— 2R 2

59

2000. 1



Ao 109 R TT7ywT YR

831

2000. 1

60

"”'t 914HSTD



A1 ROT7yR>TUEE 831

RHNo.| B &5 B & & W i = A% |ROHG | B T
11 | 22100—87804 | KV FT7yv s TV, 4 vV ay 1
12 | 90301—49003 | Y » 7, "O" 1
13| 22811—87801 | AF —, A v P2 o ¥ a Vv Ky 1
15| 22626—87801 | ¥V, F74 7 1
20 | 90179—08022 | 7 v b 2
23| 91651—60820 | KL b, U4 X T v v 4
32 | 23701—87801 | /34 T4 T Tty TV, 42937, NO1 1
35 | 23702—87801 | /A THT Tty TN, 4/ V2oV a7, NO2 1
38 | 23703—87801 | /M4 TH#T Tty 7Y, 4 /VxsV 37, NO3 1
50 | 23741—87701 | 75V T A vVxs¥av347, NO 1
51| 90041—70263 | 7w b, ~NFHITY 1
53 | 23742—87701 |45V 7. 4y Vxs Y3347, NO2 1
54 | 91611—60620 [ KL+, VA4 X T v ¥ v 2
89 | 26437—87801 |27 v T, r—v v 1
90 | 93385—15020 | A2V 2, YA X Ty ¥ 1
95 | XEQ71—0427 | 777 v b 1

61

2000. 1



831

TJa—IINT 4R E&EEK—ZE

2000. 1

62

"”—t 914HSTD



7Ja—INT 4R &FE—XE 831

63

HiNo.| B & 5 g % % ® ] = {AS | RiHif | U T ¥
11 23300—87723 | 74 W& TF7 vy TFTY, T 1—T) 1
17 23301—87704 | KF4#T7 92T, Ta—IAT4NE 1
23 | 23303—87781 | VAV T Ty kYT, Ta—ThT 4 N4 1
60 22351—87701 | 7’5 2/, =7 b 1
6l 22353—87701 { H A b, TRV} 1
79 84461—87707 | v ¥ T ok TY) 1
80 | 23344—87702 | HFA ¥ v + (V¥ H) 1
2000. 1



831 Wi

'h,-t 914HSTD 2000. 1

64




B 831

RiNo.| # & F 5 Bom &% K B | BB | ERHE T8

1| 90048—75241 | A% % 2

3| 90048—75255 | A o & 1

5| 90048—75016 | 2 X & X 2

6| 90048—75291 | A XU & 2

9| 83147—87801 | # — IS 8
11| 83147—87804 | # —3I T 4
13| 90041—19623 | KL b, YA XT y ¥ ¥ 1
15| 28100—87805 | A X — 4T vyt T Y 1
16 | 27060—87212 | AN A X — 2T 9ty T Y 1
17 | 12511—87804 | 7o 7w b, AN Z X — 4 1
20 | 91651—61028 | KL b, YA X T v ¥ 2
211 90041—79109 | + v b 1
22 | 91611—60825 [ KL b, VA4 X7 v ¥ ¥ 2
23 | 90041—79059 | > v b 1
27 | 83530—87205 | A4 9w FT vV TY, AANT Ly ¥y 1
29 | 83440—87801 | A4 v FT vty 7Y, v+ —-4H%—-%F 1
40 | 28521—87802 | # A ~v—, TV —FT 4 7 1
55| 28610—87801 | UL —T vty T ), ru—-735 1

2000. 1

65



good newdays

AMSLWELVLERRS

Pt

BREL
KAty rt
CE ¥ % 4

T105-8575 R REREX 2 #1-6-38
TEL.(03) 3452 - 4311 (k{£F)

85T BT IV YRR

KPL-831



	Return: 
	Body: 
	Engine: 
	Top: 


